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Technology Activity 5.5 (p. 290)

1
3
5.
7
9

. min: —4.25;2.5 2. max; 5; 4
. mim; 4; =3 4, min; —5:—4
max: 8.125; ~0.75 6. max; —2.125; —=3.75
. mun 2.375;: 3.75 8. min; —4; —1
. max; 8.65; 2.3 10. max ac¢ 80 cars per mule

and 1997 cars per hour

Lesson 5.6

5.6 Guided Practice (p. 295)

1.

the discriminant 2. 2 rcal; 1 rcal; 2 imaginary

3. Sample answer: when an object is thrown upward
4 o= (N E /A -AB) 4+ JI6-12
. X 2 2
4x /4 4zx2 o ]
= 3 e —2 X = or
“1xJ1+4 —~1+5
5_ - =
2 2
-3+ J/9-40 -3 /3
6_ x = -
4 4
7 L =8% V36 +36_-1x /2
ST 18 3
B or=EXB R4 TS
o oo 4E V164037 4z /=576
S 8 - 8
_4x2i ) ,
= 3 =3 + 35
10. 25 —4())2) =25 -8 =17
2 real
M. 22— 401)5) =4-20=-16
2 imaginary
12. (—4)2 —4@)(1) = 16 — 16 =0
one real
13. B2 —4(-2D(=7) =9 — 56 = —47
2 imaginary
14. 144 — 4(9)(4) = 144 — 144 = 0
1 real
15. (—1)2 — 4(5)(-13) = 1 + 260 = 261
2 real
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h=—162+ Vet + hg
0=—162+211—6
(= =21 = J(21)F — 4(—16)(— 6)
-32
_ =21+ /441 - 334
= —32
-2+ 57
h -32
1= 0.42
0.42 sec ‘

5.8 Practice and Applications (pp. 295-297)

_ (=5 SO HN19)

17. x 2(1)
5+ J25+ 56
.X‘—'—"ﬁ'—g
x=5:9
2
7. =2
— 2 Al
- 3+ /3 —4(1)(-2)
2
_ 3= /5+38
s 2
-3+ /17
X =
2
= =
19_)(_21\/4 4(D(-4)
2
2+ J4+ 16 .
= 6
2
x=IiJ§
—10 + /100 — 88
20. x =
2
_10t\/§
il 2
x=—SiJ3
_ —6+ /36 — 232 =7+ /49 ~ 76
21.,\'—-'——'-7 22. x = o A /L R
2 -2
=6 14i _—7+3i/3
A . 72 X——'—'_2
4 4 %
x==3x7 x= +2'\/§
-3+ J9 + 20 11+ J121 + 48
2 x=—T" = 24, x=——>Y = =
10 6
_ -3+ /2 IESE
T 10 T
I
4__
"3
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Chapter 5 continued
-1+ 18 N
258 & 3 2B p= E
_ =27 _Ba 32
4 r 12
2 r,.."E
P=3%"%
ﬂ_q.-zxgﬂuz s pm =t STE= THD
- 14 16
e 1 =42 1Y
¥ — 14 16
o S 5
—l._—Ir r= ‘144
hr:a:Jal—iﬁ
]
_ -9 .
A
17+ /144 = 1060 = + 6+ 4
m_ L e i H- - ——e——
I8 I
12+ 54 _-B+2.76
" T . )
2 p
II=5:I:]-J II___'_‘tW
2 s+ W =0
4= SIE—80
zh 2
pm =B
1
r=—1lxd
2 S -2r=40 =0
_1+ JAT I
3 2
_1x0
" 2
y=1 or =9

M, — I0r + =1
in

I = e

I

o 1) — 56

;o — My 4+ 15=10
_k+ SR 140
2
_Bx 410
2

s=4 2 i /19

X

3. o+ lhr+ 46 =10

— 6+ 356 = 14
1= 7

g —Iﬁ;ﬁﬁ

I=—K £33
W AT +hir k2=

0, 6! F4v—f =11
_—dx 46 5
12
—d:+ 31770
12

~10
f

x

I -

|

=

F R

=

ke f e

o df = Ay o+ =10

= rrns

A + 4
o ———
X

i
:-S:ti

a2, M+ Mk +5=0
-4 3 576 — 720
" 72

&




-

(i

Chapter 5 continued

43. 9t + 12n —5=0
12+ /144 ¥ 180
g 18
i —12 £ 18§
18
n=lor—é
3 3
4. 32 -10d+ 1=
d= 10 £ V100 — 12
[
10 + 2./22
d:
6
5+ /22
d::
3
45. 39y* + 95y — 82=0

_ 9.5+ /90.25 + 127.92

. 78
_-95% 21817
Y 78
6. 6(x* - 2)=0
x=:ﬁ
3+ /9 + 60
47. X=—]"
pLe
3+ /69
X =——
2
48 XX+ 4x+4=-29+4 89 (x—16)(x—2)=0
(x+2)2=-25 x=216
X +2=25
x=—-2=x5
50. 4(x2 + 7x + %) = —49 + 49
2
r+ =0
'y
2o =g
51. {x +4)*= -9
Xx+4 =23
x=—423
52, =54+ J0u+5=10
W =2u-1=0
W =2u+l=1+)
u—-12=2
u—1=x./2
u=12% 2
53. 4m? =
3
2=
Ty
I
2

Copyright ® McDoogal Lictell Inc.
All rights reserved.

54.

55.

56.
57.
S8.
59.
60.
61.
. 0 + 84 = 84; 2 real
63.
. 400 — 400 = 0 1; real
65.

70.

72.

74.

75.

—0y2 + 36y — 31 =0
_ ~36 + /1296 — 1116
Y ~18
L= -36+ /180
-18
v=2i?'
14p* + 19p -3 =0
_ =19 & /361 + 168
p=—=~2 T
28
. =1%323
P 28
S -
p=zorp=-3
16 — 40 = —24; 2 imaginary

9+ 24 = 33, 2real

196 — 196 = 0; | real

100 + 60 = 160; 2 real

256 — 256 = 0; 1 real

25 = 32 = =7, 2 imaginary

I — 20— -19; 2imaginary

zero 6B. negative 67. positive

.= +c=0 69. £+ 4x+ ¢

8. c <l ae.c<4
b.c=1 b.c=4
c.c> | c.c>4

X+ 10x+ec=0 7. x* =8 +c=0
a. c <25 a. c< 16

b, ¢ =25 b, c =16

c. c> 25 c.c> 16
*+6x+c=0 73. 2 =12 +c=0
a.c <9 a. c <36
b.c=9 b. ¢ =36
c.c>9 c. c> 36

Sample answer: The initial velocity substituted into the
formula can be zero.

0= —162+51+92
= =5+ /25 + 5888
-32
—5 - \Gbﬁ
-32
t = 2.56 sec

=
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Chapter 5 continued

T -:1'}1}-1, (11 = akx [ 5% lmhﬁlmllhml=:ﬁ-.
u-—-=+|h—¥ 0-=-Ii!-m-'—"":-:-.+;‘;—lm
T ESN TR | "'Eir"'“
:=9-_-{—? i i)

k 12 /10 B = o
x= | S6m oo ST e = L16we
T 0= — 1 — 5+ 10 Smple wmper: I 1 = T nc then », woubl
B WIS 4 e oxmal 16 v, * THIF = 112 fifncc.
= .8 Mised Review (p J98)
55 & .05
=g w6l C T
x= LT wer ba» 6 -T2 =1

78, P=fid — 3+ 22 g B i % ¥

00 =00 — Ix + 22 B =r=Ins 8 o dpe b o]
o= fi Lt — 35— 1978 -4 3 da & =4
T=m} ] T E:

0.2 M ASY-1lsN
,=@ I8 5 % £ 40
i Tsreh
v o= | Sh4 I e

B0 fa v Mg 4w | x¥-g
WE =8 g =Tm =3
r4d =4 il Taa

70, $6) = 0560 + G ASr + %)
0= 0565 = 0488 — 9
_ =0.488 =+ JOI4 2016
.12

= 4RR & 04
112

!

f=1h

i the yesr I'P3
B & vy, = 3500 el

b, = 194 R
TR R T oy

0= o= If & 250

I = k50

1= 21.E73 wng
Merd=d 3= e=d] B
AUt = 4 =40 = |} 9+ W’ B
16 27 A




Chapter 5 continued

20. y = alx + 2)(x — 2) 21,

8=a(—4 +2)(—4—-2)

8 = a{-2)(-6)
2

5 a

y =3+ 2)x = 2)

22, vy =alx + 10){x + 8)
=15 =a(-7 +10)(—7 + 8)
—15 = a(3)(1)

—S5=a
y= =5+ 10)(x + 8)

23 y=al - 3)}x-9)

77 = a(l4 — 3)(14 — 9)
77 = a(11)(5)
y=3x =3~ 9)
2. y=a{x+0)(x+5)
18 = a(~3 + O)(—3 + 5)
18 = a(—3)(2)
—3=a
y=—3x+0)x +35)
5. a-b+c=2
c=4
9a +3b+¢c= -2
y=-x+x+4

(VAN

y =alx + I)(x — 6)
—20 = a{) + 1)(1 — 6)
-20 = a(2)(-5)

2=.4q
y =2+ )(x — 6)

26, da+2W+ec=17
9a + 3b+ ¢ =2
250 +5Sh+c=4
y=2%—15x+ 29

27. 25¢ — Sb + c= —4
l6a —db+c=0
c=1
y = =075 — 2755 + |

288 a—b+c=5

c=13
9a +3b+ ¢ =9
y=xX2-x+3

Copyright © McDougal Littel Inc.
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29.

30.

31.

32.

33.

34.

35.

atb+c=2
9a+3b+c=4
360+ 6b+c=—8
y=-xX+5x-2

4da—2b +c= -1
a+b+c=11

4a+2b+c=127

y =32+ Tx + 1 .

l6a—4b+c= -7
9a~3b+c=3

Sa + 3b+ ¢ = -2
y=-2—4x+9

Su—3b+c= -4
a—-b+c=0

8la+ 9% +c=-10

y=—0.25x+x+ (.25 I

36a — 6b + ¢c = 46
da+2b+c=14
16a + 4b + ¢ = 56
y=252+6x-8

—_—
rer
e

h=als —27)7* + 16
40 = a(20 — 27)* + 16
24 = a(49)
B-u
h=2-27+16
y = alx = 0)(x — 24)
0.2 = o(17){17 — 24)
02= 119
—0.00168 = a
y = —0.00168(x — 0){x — 24)

Algebra 2
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Chapter 5 continued

38 Dby = b+ ¢om |42
da + 2+ g = =027
Ya + bk b o= = |42
¢ 001 ~ e = (L0003

i1

=i

i -
Irerrl“p#Tﬂ

AT, mo 3B U0 = |98 ¢ o0o= BRI
B 200w + 2Th 4 ¢ = QGB0
I6080 o & H01E 75 = 980
¢o= — 00T + 55 23 ¢ LNIAR

thum“-ullll.nul
LT

i 10 N N0 &0 LoD

Protuin mimed f1rdm e )
B JB025a + 198k 4 g = IXE
| TA2H = 3 1h + ¢ = A1
182,38 = 4T v ¢ = ATH
= —fidie ! = 06237 + L2315

T e e i L ]

2 R oige oo
R i e T | PR gl

M os  0= I0b 4+ ¢ = 6012
Wk b A+ o= | 504
1804 + 486 = ¢ = 1407
i = =007T1AT + 65504 + Lah)4

4 % W W e in
g e gemaa

Algebra 2
Chapter 5§ Winrked-out Soluhion Ky

b 0¥ 4 106+ & = 5H)
Wil + b+ = LMY
IMHa + 48k 4 ¢ = |31
i = = (T4 4+ & N -+ [Le9TN

B = 4 m
T —

0. [CHur 4 [0h 4 e = 54
W ¢ MM 4 ¢ = | 228
AMMe 4 486 = c= |3TR
il = =uiTAY + 622844 — NLI62N

¥ » |05 16A, 200, 297, 1725, 0T, D4 my
Lorp saircaimy e Sl iGcTTas™
B DTS OOGTT TR O STE, Duled]
et Rl =y sppumoasTsely egsal
w po= 0, 06R gboun 300 mun

“l'-. nl1]a]s][a]s

(o] i{z]al7]u]e

=

it hoep=1
U+ My&p=ay
a4+ Sp & ¢ = i
K= 03wl = e+ |

A8 Misd Beview: jp J18

M- dafd—g =%

BN =F2)]:1=23

3 M-t e M= M=fell= }0=—[92+ H
M, ==l e Q=)+ T= =7 =2+ T=4

omor—p=d A Iy = p=10
gt y=] W+ =1
Iy=1 S5+ ULl =1
r= % Sr+dw=MU
5—p=4 lix=1
== x =1l
th =1 vu Wi
i,
Ebpyratl &

Ll




Chapter 5 continued

47. 3x + 2y = -2
4x + 7+ =19

3x
ax+ (-1 —=) =
h} 7( 2) 19
o}
41—7—%=19
—1—23-1=26
x=—4
) (3: -4
B 2

y=—1+6=5
(—4,5)
48. € = 1800 + 1Sv+ 10p

Quiz 3 (p. 312)

LR S T A
i _,..Tr_ -
]- -.\,\_’- -t — -

-

el

-

l.
r}_
+
ml
)
HEMEE
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10.

LOTTR | P
____ WEREE
y=xt+x+10\ | [ | [y !i_l
MAYEIANYAR =
L
' — ) P
SR~ T
Bly=-c-4q | || [ |
T EEEEEE
.y=alx=95r-2 8. y=alx+3Hx-1)
D=al-12-2 -5 =a(5)(1)
2=a —l=a
y=2(x— 572 -2 y=—=(x+3Nx-1)
16a —4b+c=18 16a —4b+ ¢ =18
da—2b+c=1 8a +4b+2¢=10
da+2b+c=5 Ua +3 =18 Eq2
da—-2b+c =1
da+2b+c=5
8a + 2¢ =6 Eqgl
8at+2c=6 Ba=6
—8a—c= -6 a=%
¢c=0
4 +22+0=5
2b=12
b=
y=j\xz+x
0.00339N2 + 0.00143N — 5.95"< 1000 |

0.00339(V? + 0.42N + 0.0441) < 1005.95 + 0.0001495 |
0.00339(N + 0.21)% < 1005.9502
(N + 0.21)? < 296,740 |
(N + 021) < 544.7 |
N < 544 ||
0 <N <54

Chapter 5 Review (pp. 3714-315)

1,

[ 1] AN !
! I L

Y
y -
LETTINLD AT

PEEET
RSN
| (-2,3}

LT -

T

! lX? —|2 l"

-

Algebra 2
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Chapter 5 continued

& rFellrsM=0
fp* Te = §) =0
= =% g = =§

bk P-ki# =0

{i = & =
=4

. Nl didy=18=10
(64 {3y =8 =10
u-—!muul

B 1! = 200
£ = o0
1= =0

1L dii o+ &Y = 160
li + &F = a6
i1+ al = 23,700
i= 231010 - 6

IFeTm =LY

=l = |} = =350

= 1= an

i -

=0 = 303

B XM=+ l=0
{x+Nx+ 1) =0
s=—forz=~|

B M-y a=10

(5w —IF =1t
v=i
w5 =3
o ¥
=213

=) 23,%
=AU+ N =5+

M 2=-8=h+h=

d = I3

W (13 e 20} ¢ (M = 2T o= 103+ 1N

Wi "T+3

B+i 1=+l (W-D+4+ I8 &+
|4 ' 5

WSR-S -

JHT = 373

gy kar
O B Wwinrlaad-co Silution Key

i i rdr=3 18
Wordy e dmT
[x % I =7
4+ 3=+
r-—'.rt‘.'r'i'
W W iw-T=0

TV DR S e =

n, p=gl = Ly o I7
=1 e =g+ I8
¥ g =dp &g,

4, 0
z e el T
Woopom o= e 2yl

vl I =3
RS PR L B
[=1,~%
23 o= d? o e 4+ 13
¥ o= 20 m Qix® = du)
¥o= At di 4+ 4 4T
:.-q“-l-ﬂ'd-‘?;'
{=LT
24 -BrrS=0
iz SH-0
1

_.ty‘ﬂ
i =——p—=
-

=432 JTl
Mo e =Ta0
=g JToG - 113
=
]
=10 4 %
P'=—l

_—3siyd

4




Chapter 5 continued

27.

30.

31.

32.

34.

TW?"ﬁﬂﬁﬁzii
\e v fﬁj
.y Jy=x2—4dx+4
\ 'ITl N
=1 1 ! [ | x
Feb
IS T T A 2 P 1]
X 5 b v = —2x2+ 3|
1 BE | vie i
B AT AR
= N AL—_“TJ '{Hl b x|
y = x2 4 Bx + B el | 1]
i jl B ) =i
P-3x—-450
(= A+ 1) =0
x=4 orx=-1
—1£xs4
22+ Tx+220
=1 /49~ 16
o 4
-7+ /3
h 4
-71- /33 -7+ /33
S ——mmor x> ———
4 4
9x? > 49 33. y=qalx —6)* + I
=% = afd - 6)2 4 1
X = j:% 4 =dg
x<—% or x >3 a=1
y==-67%+1
y = alx + 4)(x — 3) 3. 25%a—-3b+c=1

20 = a1 + 4)(1 — 3)
20 = a(—10)
-2=u

y = —2(x + 4)(x — 3)

Chapter 5 Test (p. 317)

1.

16a —4b +c= -2
9%a +3b +c=35
y=052+15r—4

r: x=2 [ ]1
Y 2,3)] & il
hﬂ }_LLd
. v —Ixl+8x- &
| 11
B/imE -
R'N ¥l

Copyright © McDouga) Littel In¢.
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10. [ 7

[~

L
|
J

B
Fh

y=4x-3?~-7
y+7 =402 - 6x+9)
y+ 7 =42 — 24x + 36

y = 4x2 — 24y + 29
r—x—=20=(x— 5

+ 4)

92+ bx + t = (Bx+ 1)

32 — 108 = 302 — 36)
y=xt— 10x + 16
y={x— 8 -2k
8,2

= 3(u + 6)(u — 6)

a J5-5:5-2-2=10/5

VA 2 .
3° /A 3

T 1 (e 1B+ D)+ (-5
u ) ! =4 — 4
o Av2l

= UARFREERN
i EREE

4 b L) mal,

EEEERE =N

| |

' [

12, (F4 =T+ 2i+3)=~11+5i
13. (48 — 2) + (6i + 16i) = 46 + 22i

14.

O+ 1+4i_ (98 + 2+36) _1+38
| —4i 1V + 44 I + 16 17
Algebra 2

Chapter 5 Worked-out Solution Key
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W fiii=F —0N
fa=0
7y = U] = =5
2 = fi= 080 = <025 = 0.3
= =038 = 08 = —0 05— A

[Eal = 0

fi;l = 0%

) = SN + 25 = A5 ~ (54
le,) = LT=BIRFET &« (-08F = 053
Yeu, thae abwidliie vilues aip Lo thap & = |

Wwe=id 1. ¢ = ML
s -2 v+ 4y
m e = i " p=of o e -4
e = A wi 4 =8 = % [ + 8
¥ == 9 - &%
=9 —u%
mIr=1=|| 5 = 6y = 80 =D
T = 14 =l s =0
Pl Lt = Bpey = @) =0
| = dhold =1

7 e B Aw0 2m om e Amed=0
[o= 152y = 1) =0 O Y K

yw =ty =
AT
- g
0 T 3
me=>4t fF
M oHp—-9F =1 A =u+I=p
p—9F =27 T
P =
p-‘-:.h-i +
FP=% 1.3 J..:l'_"h'lq'r
i
X i—1F — STA NN 7.
—2aPK
2 ooy

160 Algebra 2
Chapeer S Wiorao-oun Solusom Ky

Sassalml  =e
',--..
]
i E
et )
Tl
TI-??"-!‘:“.+
n, -9
= =y = ] 1} =43
[ = IMk = 31 =1+ =it
=3 = -3 ==
TETE® 1= —dasx
RS % o
b | i |
'___{:Tt.:_'
=48 ,,, 00
N oy +IF=2 W ywulz-|
1S T I | | I=al2 -1
=200 = da =3 = gl —hi
=3 = '|=u
yu =8 32 ¥ = iy = )8
B arhre=1 w0 =6
[B + dlr + ¢ = =1 ih? = |6
M+ M b= w=r
== e |4 B = L1
FET R R

N op= 0% - Ba ¢ |WIH

Chapter § Standardized Test (pp.
La

2 Al Fdi-VW=hi-Yl=T1 I
o= — i1+ dD A Al = 1F=0
iF=ta — 3Ha - Kb b = I =7
58 LI A
D =

C
B0 AR 0= ) = =0+ M)+ (RO k
= =11 4 Wl
D
L S M
Syt © bkl



Chapter 5 continued
7. JE-AB)(~N=88 B X+7x-8%0

2 rea) solutions X +7x—8=0
A xr+8x—-1)=0
x=—-8orx=1
x<—~8orx>1
B
9. D 10. g
M ST E2P= O +4=13~36l or
SO F (== +17=J18=3/3~424 B
12. 49 + 96 = 1450v 196 — 200 = —4 A

13. a. r = 0.334(30)* b. 400 = 0.3344?
r = 300.6 fi 1197.6 = 5?
346 =ys

about 34 .6 mi/h

c. A =245r d. A=8016ms? e linear; quadratic

14, a. h = =612 + 40/ + 3
b. h— 3= —16r - 40t
h— 3= —16{1*~ 2.5 + 1.5625)
A =3=—16(t — 1.25)*
f=—160— 1252 +3+2§
- 16(r — 1.25)* + 28
about 1.25 scc; 28 N
c. 8= —16(/— 1.25)" - %
=20 .
- I—6 -(I‘ |25)
5
‘_3 = {1 = 1.25)°
S5
i—z— =¢1— 125§
NE
125~ =
25 3 !
abow 2.37 scc
d. 6 —16(r —1252+28 <9
22

1375 2 (1 — 1.25)* > 1.1875

1173 2 1 — 1.25 2 (.090

242 24 2 234
from about 2.34 sec to 2.42 sec
e. 0= —160.1)2 + (0.1)v, + 8
0=-016+ 8+ 01y,
—7.84 = 0.1y,
~78.4 =y,

78.4 feet per sec
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